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RATE 514=68.6 %1£=69.5

IN—TJEt

B 32 K £ 1 2 3 GROSS HDGP NET
1 AR %— 41 42 83 22.0 61.0
2 |¥VE A 45 43 88 24.0 64.0
3 |/\fIlH =FEF 52 47 99 34.0 65.0
4 | KiE FRZX 44 44 88 23.0 65.0
b MER K BHE 48 44 92 26.0 66.0
6 |FkE =N 39 39 18 12.0 66.0
7 WK Zish 42 43 85 19.0 66.0
8 |Ni#E THF 41 45 86 20.0 66.0
9 |XE =E 43 47 90 24.0 66.0
10 [FE &7 45 52 97 31.0 66.0
11 [f8k FE 48 40 88 21.0 67.0
12 ([Ax EE 45 42 87 20.0 67.0
13 |f##E IEAE 46 44 90 23.0 67.0
14 [BE ¥— 38 38 16 9.0 67.0
15 (IBE ®m— 39 40 79 12.0 67.0
16 |LBEh FFE 39 42 81 14.0 67.0
17 |#&% *= 48 38 86 18.0 68.0
18 |/Mk & LF 58 54 112 44.0 68.0
19 |ti& B— 44 40 84 16.0 68.0
20 |/\F01@ 1§ 44 42 86 18.0 68.0
21 |AR %% 42 41 83 15.0 68.0
22 |FERE 2 45 46 91 23.0 68.0
23 |[aK {E= 41 43 84 16.0 68.0
24 |2 EE 44 51 95 21.0 68.0
25 |E@ #F 57 55 112 43.0 69.0
26 [ FF 51 51 102 33.0 69.0
2] |&%@ EE 51 44 95 25.0 70.0
28 [3EH Eif 52 46 98 28.0 70.0
29 (% ECOHE 48 43 91 21.0 70.0
30 (AR |#X 46 42 88 18.0 70.0
31 (HO MRE 52 51 103 33.0 70.0
32 |HEF RIFE 46 46 92 22.0 70.0
33 ’EH 1B 47 47 94 24.0 70.0
34 |EERE FEE 48 48 96 26.0 70.0
35 |RE AT 41 42 83 13.0 70.0
36 |#EHF —t 40 41 81 11.0 70.0
37 A BHER 45 48 93 23.0 70.0
38 |EEF W= 45 50 95 25.0 70.0
39 |EH 1&H 43 49 92 22.0 70.0
0 |a8 8 50 43 93 22.0 71.0
Mm@ =— 53 47 100 29.0 71.0
42 (lu| —1Z 44 39 83 12.0 71.0
43 |XH B= 48 44 92 21.0 71.0
44 | K EB— 48 45 93 22.0 71.0
45 |dbE /MR 50 56 106 35.0 71.0
46 |+ %052 40 46 86 15.0 71.0
47 |REE R 45 b1 96 25.0 71.0
8 |FA F 60 52 112 40.0 72.0
49 | RES RA 45 38 83 11.0 12.0
50 |#H 13 47 40 87 15.0 72.0




51 |&lR 2 4] 43 90 18.0 12.0
52 |k M 46 44 90 18.0 12.0
53 (AR #F 46 44 90 18.0 72.0
54 |#afFx ARR 46 47 93 21.0 12.0
55 Il B&EX 48 50 98 26.0 72.0
56 | XKH BA 42 46 88 16.0 12.0
57 |8 AR 44 49 93 21.0 72.0
58 |& il 46 92 98 26.0 12.0
59 (¥ HFE 40 50 90 18.0 72.0
60 [FikE fB= 06 93 109 36.0 13.0
61 [E& & 54 52 106 33.0 73.0
62 |AF IEth 52 92 104 31.0 73.0
63 |ty B 54 54 108 35.0 73.0
64 |=#  5A 45 46 91 18.0 73.0
65 [Fith FHKF 48 49 97 24.0 73.0
66 |5tEn BYAR 44 45 89 16.0 73.0
67 | B FA& 50 52 102 29.0 73.0
68 |AIf = 45 49 94 21.0 73.0
69 (RE HF 317 46 83 10.0 73.0
10 |t HE 4] 44 91 17.0 74.0
n (gER 13 47 48 95 21.0 74.0
12 |KF E= 50 93 103 29.0 74.0
13 |#H EF 47 51 98 24.0 74.0
4 | tEB B 44 o4 98 24.0 74.0
5 [EE FB 46 44 90 15.0 75.0
76 |stX ERX 45 44 89 14.0 75.0
17 |EEEH FR5A 45 45 90 15.0 75.0
8 BEX = 4] 48 95 20.0 75.0
79 |yE A 47 49 96 21.0 75.0
80 |EX = 53 96 109 34.0 75.0
81 | i 50 45 95 19.0 76.0
82 LNl RERE 48 47 95 19.0 76.0
83 [1BH BF 49 49 98 22.0 76.0
84 |REIZE EHE 46 47 93 17.0 76.0
85 |l E— 42 44 86 10.0 76.0
86 |FA A 50 93 103 21.0 76.0
87 Mg #EEMK 49 59 108 32.0 76.0
88 |JIlL #8RK 95 45 100 23.0 71.0
89 |AIl =X 61 53 114 37.0 71.0
90 |BRA ={E 49 90 99 22.0 11.0
o1 |BkA X 51 44 95 17.0 18.0
92 |/h& & 51 46 97 19.0 78.0
93 |FE@E =8I 57 54 (AR 33.0 18.0
94 LT & 55 93 108 30.0 78.0
95 [t ES 52 54 106 28.0 18.0
96 |BHE i 50 96 106 28.0 78.0
97 (BH#& #HR4 54 51 105 26.0 79.0
98 |EX A= 61 62 123 44.0 79.0
99 [#E & 54 51 105 25.0 80.0
100 [(E:82 #it 52 48 100 19.0 81.0
101 [ZH FIEA 50 59 109 28.0 81.0
102 [HE &= 61 49 110 21.0 83.0
103 |®R%¥ [RER 49 47 96 13.0 83.0
104 [HE & 51 96 107 23.0 84.0
105 [4EfE —1T 48 96 104 18.0 86.0
106 |EH S5X 62 12 134 39.0 95.0




